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101|R#A7 L 403 75 328 Kg |®)I 1,944 324| K 3,024 540
102|357 L 2,051 2,051 Kg S - BIE 3,791 648
111|&EEF £ 142 142| Kg K5 - Al 1,728 324
113|RAV S 27 1 26| Kg |EE 323 = 3,564 864
114|B5EFE 185 185| Kg e 2,538 1,404
117[14 % 885 298 587| Kg |EE 2,376 32|xfE 3,780 54
121{hblE € 25 13 12| Kg |EE 1,620 540|fEfE 1,080 756
134[#= 588 253 335| Kg |&)I-EE 2,400 1,600 )& 2,484 216
140(5 I 12 12| Kg R 118,800 22,680
147|E2 O 58 58| Kg |EE 14,038 4,863[pEK - Rl 19,440 7,560
158|EFEA A LS 430 430 Kg ERE 2,052 540
201{Lvb L 746 746|  Kg TE - =50 540 288
203|/hd L 129 129| Kg = 612 270
205|3L8 L 255 255| Kg K% 900 360
206| = 1F 644 644| Kg KI5 691 346
207|= A K 24 24| Kg imE 1,080
208| Mo % 564 564| Kg ML 2,160 497
210{1F AL 72 72 Kg |Ei& 8,640 2,376
212|&5E.3 Y 127 127| Kg SAl - BiE 2,160 1,300
222|052 240 240|  Kg =5 324 252
251|< B %<3 317 317| Kg Bh 4,147 3,942
252|L0AEECH 208 208 Ke |m7 3,618 1,976

1/2




254|ED12ELCA 607 607 Kg 2Pl 3,186 572
305|xAah>0b 30 30 Kg =) 4,860 3,240
3191 h o 223 28 195 Kg [|&I&F 1,728 1,404 | &I 2,160 1,404
3321 WA =EF 197 1971 Kg i 2,160 1,944
351|4£ 8 28 28 Kg = 11,880 3,780
3541 <Y 60 60 Kg FE 1,404 1,242
3/5|HEY 205 35 170 Kg [ZA 1,080 216|Z A - RE 1,620 600
356|L L& 70 70| Kg SHR 1,512 972
3577~ E 22 22 Kg FEE 1,782 1,728
358| KE 15 15| Kg A0 2,916 1,620
401|H W 125 4 121 Kg [|xB8 1,612 sz 1,944 864
4025 5 &E 33 33 Kg REA 37,800 4,644
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512| A& AL 50 50| Kg b 1,400 1,188
523| A EARAT 2 O 166 166 Kg =] 4,536 1,188
54| ARE & 2V 11 11| Kg hE 1,560
5h4|E X BA AR 40 40| Kg b 820 450
558| 70 70| Kg b 1,296 756
560|487 2 653 653| Kg =] 3,195 900
576|4R & 1F 35 35| Kg B - A 1,836 1,080
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70110 BA 194 50 144 Kg |EE 4,300 s 4,669 2,147
705|7=2< ¥ 157 157 Kg LA 3,780
710(2 2 AT 6 6 Kg Ko 1,404
BlEFAI L 27 271 Kg JbiF 780
54T AE 14 14 Kg B 1,836 1,234
755(Fd L 41 41 Kg RIF 972 710
56| £ 9 22 22| Kg RIE 1,588 1,466
7611 b BHAEL 11 11 Kg & 3,086
801 [3BATL = 1S 194 1941 Kg FE-mA 1,728 540
802|111 20 201 Kg blo ] 1,242
805 = 1E 722 722 Kg bF 972 702
810|BAKTF 126 126| Kg biF 3,780 1,728
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